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—— 18. If A works alone, he wl.-muld E
th
ARITHMETICAL ABILITY Syl e 0 GO M
e AB than if both A and B workey
1. In a division sum, the divisor is (1] 15 (2) 20 together. If B worked alone, 1,
4 times the quotient and twice the (3) 18 [4) 30 would take 16 days more 1y
remainder. If a and b are| g The square root of complete the job than if A and g
mﬁﬁ the divisor and the ) work together. How many day,
i D7) 1075410757 + 1l 1s would they take to complete th,
4b-q? 1-075 work If both of them workeg
(1) ————=3 (11 2 2 together 7
- 3 3 4] 4 (1) 10 days (2) 12 days
(2) %-ﬂ =2 10. Given that f3006 =64, thevalue (3) 6 days (4) 8 days
o 16. 250 men can finish a work In %)
3) (a+ 1) =dh of J4096 + /4096 + J0.004006 days working 5 hours a day, To
ala +2) b finish the work within 10 day
) —p—=4 :1: 70.4 (2] 70.464 working 8 hours a day, the
3 71.104 4 71.4 minimum number of me
2. M798AGA s divistbleby 11, then | 33, The Jeast positive integer that required is y
the value of A Is alirnld he s from 301
e 2) 3 FubRctad L (1) 310 (2) 300
#3012 8o that the difference s a
(78] ) 1 perfect square is (3) 313 (4) 312
3. The product of two numbers is (1) 3009 (2) 3010 17. 2 men and 5 women can doz
1575 and their quotient s 8/7, work In 12 days. 5 men and ?
Then th S the (3) 3011 (4) 3012 ye
1 ::4 € sum - ;;umhem 's| 12, p.Q, Rare todoa women can do that work in 8
for® 5750. P and Q together days. Only 3 women can finish
(3] 80 (2) 90 the same work in
189
(81538 x ()27 finished 22 of work and @ and (1) 36days  (2) 21 days
4. Thevalue of ~ oz~ s ; (3) 30days  (4) 42 days
R together finished — of
(ma @6 g TN | am 5
3 9 ) 8.2 Wage of @, tn rupees, is By selling an article at — thof
(1) 2850 {2 3750 marked price, there is a galn
5. B+ 46+ JB+..... Is equal to (3} 2750 4) 1000 25%. The ratio of the I.'I'I'&]'M?
(1) 2 2) 5 13. While selling, a businessman Price and the cost price is
(3) 4 4 3 allows 40% discount g )5:3 .
marked n the (203:5
8. The sum of the squares of two ﬂmﬁﬂmmﬂmhama @ 3:4 4 4:3
;ﬂsmmc ofﬁn mbers price ml‘m:mﬁm 18. AandB eam in the ratio2: !
. aum k
is o (1) 10% 2) 208 They spend in the ratio 5 : 338
(1 24 (2) 32 5 e in the ratiod : 1. If the o
(3 40 {4) 28 2 135% () 151% HIEUEHWDTM&M
7. When (67" + 67) is divided by | 14 . 3 i » the monthly incot®
68, the remainder is Hﬁiﬁ“m‘“aﬂ?&u&ﬂmg 15
(1) 1 2) 63 rempaean it a3 and 4 houry 1) = 7,000
(3) 66 [4) 67 1 i 1o Tg lgagan empty 12) =% 14,000
8. A can do a plece of wark in 24 at 3 pm., 4 p.m Opened 131 = 5,000
days. B in 52 days and C in 64 respectively on the; b Eypii.:é (4) % 10,000
days. All begin to do it together, m ' 20,
but A leaves after & ﬂaytg.gand B (1) ?:12“1] be empty at ;rlhﬂ ratio of the sum of ﬁt;
leaves 6 days before the 2) 7:15 pom, Eu.ﬂ'lbl:]'s and their differenc®
completion of the work. How (3) T: p-m. * 1. The ratig of the Eﬂﬂ‘mf
many days did the work last ? o *10 p.m, umber to the smaller numb®”
) 7:18 pm, 23
—— @ s5:, Ehaea

(4)1:5
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g1. Successive discounts of 10%, | 27. In a laboratory, two bottles (1) 25 i2) 30
20% and 50% will be equivalent contain mbdure of acld and water (3 as (4) 40
to a single discount of intheratio2; 5 in the first bottle | g4 7 a number multiplicd by 25% of
(1) 36% (2} 64% and 7 : 3 in the second. The ratio ftaell gives a number which is
13) BO% {4) 56% in which the contents of these 200% more than the number,
23. A retatler offers the following two bottles be mixed such that then the number 1s
discount schemes for buyers on the new mibxture has ackd and (1 12 (2) 16
an article. ‘;:;-t:rmﬁlhl:mliuﬂi-ﬂlﬂ (3 20 4] 24
L | 9:8
I. Two successive discounts of @218 f:i 1:2 38. Thevalue of an article depreciates
s 28. Th [ every year at the rate of 10% of
Il Adiscount of 12% followed by o g oo “““h““mbm ta its value. If the present value of
a discount of 8%. it lazﬂh‘: :‘Em the article 5% 729, then its worth
I11. Successive discounts of 15% number I8 twice the third, The 3 years ago was
; first number is (1] %1250 () 1000
V. A discount of 20%., (1) 264 (2) 132 (3] w1125 (4} 1200
The selling price will be minimum i3 88 {4) 66 88. The price of onions has been
under the scheme | 2. The increased by S0%. In order to
L average salary of all the staff
mr {2 n in an office of a corporate house keep the expenditure on onlons
(3) m 4 v 157 5,000. The average salary of the same the percentage of
23, Amixture contains 80% acid and the officers 1s¥ 14,000 and that reduction in consumption has to
rest water. Part of the mixture of the rest Is¥ 4,000. If the total %
that should b d number of stafl is 500, the 1
e e s number of officers is (1) 50% 2 335 %
to make the ratio of acid and E‘; ;g {[i]i ;g (@ 33% (4] 30%
water 4 : 3 is
30. Theaverage marks of 40 students 37. Walking at 3 km per hour, Pintu
1 3 inan exam Is 72. Later it veaches his school 5 minutes late.
[ —rd 2) =th If he walks at 4 km per hour he
3 7 is found that thres marks 64, 62 will be &
and 84 iy ent nutes early. The
2 2 68, 65 and 73. The aiter distance of Pintu's school from his
3 grd (@ = th : el house is
3 7 mistakes were rectifled Is
24. An reduces the number (1) 7o 2 72 1
of his employees in the ratio 8 ; (3 71.8 4) 72.1 M 1gkm (2 2km
B and increases thelr wages in | 31,  Of three numbers, the second s
the ratio 14:15. If the original thrice the first and the third () 2_1,. i (4] 5 km
wage bill was= 18,900, find the number is three-fourth of the 2
ratlo in which the wage bill is first. If the average of the three | 88, Nitin bought some oranges at
decreased. numbers Is 114, the largest X 40 a dozen and an equal
(1 20 : 21 2) 21 : 20 number Is number at® 30 a dozen. He sold
3 20: 10 (4) 19 =31 (1] 72 E}Elﬁ them at¥ 45 a dozen and made a
25. The batting average for 40 innings {3} 354 (4] 726 profit of 480. The number of
of a cricketer is 50 runs. His 1 oranges, he bought, was
highest score exceeds | 32. A car covers o of the distance f:;i 18 (21 60
his lowest score by 172 runs. If o speed of § km/ 72 (4] B4
these two innings are excluded. lﬁmﬂatthr: 38. Aman buys two chalrs for a total
the average of the remaining 38 A t 95 kmn cost of ® 900. By selling one
innings is 48 runs. The highest oo A henanie 4
score of the player ia per hour and the remadning at the I‘nr-ﬁ' of ita cost and the other
(1) 165 (2] 170 speed of 20 km pern[hm.lr, Find
3 172 [4) 174 the average speed of the whole ; 5
— of its
28. A and B are two alloys of gold Journey. 3 cost, he makes a
and copper prepared by mixing (1) 12.625 km/hr profit of ¥ 90 on the whole
metals in the ratio 7 : 2 and (2) 13.625 km/hr transaction. The cost of the lower
7 i 11 respectively. If equal (3) 14.625 kem/hr priced chair is
quantities of the alloys are melied (4] 15.625 km/hr {1} = 380 (2) % 400
Efﬂnﬂ a third alloy C, the ratio | 33. A jar contains 10 red marbles and (3 = 420 (4] = 300
gold and copper in C will be 30 green ones. How many red | 40 gy gelling 100 e
ms:7 2] 5:0 marbles must be added to the jar h ges
of the miichies will gains the selling price of 20
B7:5 [419:5 sa that 60% = oranges. His gain percent is

STNE-121 I=m
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41.

(1) 20 (2) 25
(3 30 (4) 32
60% of the cost price of an article
is equal to 50% of Its selling price.

Then the percentage of profit or
loss on the cost price is

(1) 20% loss

2
(2) IEE % profit

(3} 20% profit

(4) 1096 loss

Maninder bought two horses at=
40,000 each. He sold one horse
at 15% gain, but had to sell the
second horse at a loss. If he had
suffered a loss of® 3,600 on the
whole transaction, then the
selling price of the second horse
is

(1) % 30,000 (2) % 30,200
(3 = 30,300 (4) = 30,400
A fruit-seller buys x guavas for'™®

y and sells y guavas for¥ x If x
= 1, then he made

Z_i2

(1) % loss

X% y?

m%gﬁlﬂ

(2)

z

8 —=
yﬂ

%4 loss

a2 —y?
(4] yg % galn
Il the simple interest on¥ xata
rate of a% for m years is same

as that on= y at a rate of a*% for
m? years, then x: y is equal to

Mm:a (2) am: 1
3l

& R
1
et |

(4 pes |

A took two loans altogether of®

1200 from B and C. B claimed
14% simple interest per annum,
while C claimed 15% per annum.
The total interest paid by A in one
year was¥172. Then, A borrowed
(1) = 800 from C
(2) = 625 from C
(3) = 400 from B
(4) = 800 from B

48.

47.

48.

51.

If a regular polygon has each of

: ; 3
its angles equal to = times of two

5

right angles, then the number of
sides is

3 {21 5

e 4] 8

A square is of area 200 2q. m. A
new square is formed In such a
way that the length of its

diagonal Is .2 times of the

diagonal of the given square. Then
the area of the new square formed
E +

(1) 200./2 sqm(2) 400 /2 sqm
(3] 400 sg.m {4} 800 sq.m .
The heights of a cone, cylinder
and hemisphere are equal. If their
radll are in the ratio 2:3:1, then
the ratlo of thelr volumes is
ma2:9:2 2)4:9:1

(A 4:27:2 [42:3:1

A motor-boat can travel at 10
km/hour in still water. It travelled
91 km downstream in a river and
then returned to the same place,
taking altogether 20 hours. Find
the rate of flow of river,

(1) 3km/hour (2) 4 km/hour
(3) 2km/hour [4) 5 km/hour

3
A man driving at ey th of his

original speed reaches his
destination 20 minutes later than
the usual time. Then the usual
time is

(1) 45 minutes

(2) 60 minutes

(3) 75 minutes

(4) 120 minutes

A motor boat, travelling at the
same speed, can cover 25 km
upstream and 38 km downstream
in 8 hours. At the same speed, it
can travel 35 km upstream and
52 km downstream In 11 hours.
The speed of the stream is

(1) 2 km/hr (2) 3 km/hr

(3] 4 km/hr (4) 5 km/hr

Il a sum of money placed at com-
pound interest, compounded an-
nually, doubles itself in 5 Years,
then the same amount of money
will be 8 times of itself in

(1) 25 years (2} 20 years

(3) 15years  (4) 10 years

STNE-122
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A person has left an aﬂlﬂum;ﬂ!
®1,20,000 to be divided ;
his two sons aged 14 years 5,
12 years such that they get
amounts when each attaing 1§
years of age. If the amount g, -
a simple interest of 5%
armum, the younger S00's shay,
at present is

(1) = 48,800

(2) = 57.600

[3) % 62,400

(4] = 84,400
fa+bP+cf=2la-b-qd-3
then the value of (a-b+ ¢ is

(1 -1 @3

@1 (4 -2

If 22 + 3x + 1 = 0, then the vajye
3 1

of +;§" is

(1) -18 2 18

(3 36 [4) -36

If 2. 28, »* = 1 then the value o
a+BFP+Pis

(19 (2) abe

@ a+b+c (4 3abe
Base of a right pyramid Is 2
square, length of diagonal of the
base is 24 fo m. If the volume
of the pyramid is 1728 cu.m, its
height is

(1) 7m 2) 8 m

(3) 9m (4) 10m

The height of a right circular cor
and the radius of its circular ba
are respectively 9 cm and 3 e
The cone is cut by a plane parald
to Its base so as to divide it In?
two parts. The volume of th
frustum (Le., the lower partl
the cone is 44 cubic cm. TH
radius of the upper clrcul®
surface of the frustum (taking®

o2
o= ?]iﬂ

1) 2 em (2 §3em

@B ¥6 cm (4 Fog o
The ratio of radil of two righ

circular cylinders is 2 : 3 and
helghts are in the ratio 5: 4 T

mﬂﬂﬂfthﬁrmnfﬂdmma#
is

(15:6 2)3:4
34:5 4 2:3
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Asolid cylinder has total surface

area of 482 8q. cm. Curved

1
surface area is 3 rd of its total

gurface ared. The volume of the
der is

(1) 530cm®  (2) 536 cm?
() 539 cm®  [(4) 545 em?
Acylinder and & cone have equal

radil of their bases and equal
heights. If their curved surface
areas are In the ratio 8 : 5, the
ratio of thelr radius and height is
(1) 1:2 2 1:3

32:3 43:4

A solid s hemispherical at the
bottom and conical abaove. If the

surface areas of the two parts are
, then the ratio of radius and

height of its conical part is
(N1:3 2 1:1
@Bl @13
Base of a right prism is an

equilateral triangle of side 6 cm.
If the volume of the prism is

108 /3 cc, its height is
(1) 9cm (2) 10 cm
(3) 11 cm {4) 12 em

1
Ifn.-l-; +2 =0, then the value of

a7 1
n [T
[ ﬂluu] is

(1) O (2) -2

31 (4) 2

The value of k for which the
graphs of (k-1) x+ y—-2=0and
(2- K x-3y + 1 = 0 are parallel
ia

1 1
m3 2 -3
3) 2 (4) -2
The length of a shadow of a

1
vertical tower lajg times its

height. The angle of elevation of
the Sun is

(1) 3¢° (2) 45°

(3 eor (4) 90°

The graphs of x + 2y = 3 and
3x - 2y = 1 meet the Y-axis at
two points having distance

8 4
) Funits (2 7 units

3) 1 unit (4} 2 units

a8,

TL.

74.

1
Hx+ 12— =1, then the value of

1
Bax® ®
(1) 4 (2) 52
(3) 64 (4) 76
If @ b, ¢ are three non-zero real
numbers such that a+ b+ ¢=0,
and b # ca, then the value of

vn=;|2'+h|2+lr.'2
b —ca
13 2 2
[31? 41
fa +a'b'+b' =8andd +ab
+ b =4, then the value of ab Is
1 -1 2) 0
(3 2 41

Ifa=25 b=15, c=-10, then
the value of

84x +

is

aa +I!:‘-";I +c3—-3-nhc
(@-bP +b-cP +lc-aP =

(1) 30 (2) -15

(2] =30 (4] 15

A, B, C are three points on a
circle. The tangent at A meets BC
produced at T, ZBTA = 40°, ZCAT
= 44°, The 31151& subtended by
BC at the centre of the circle Is

(1) 84° (2) e2°
(@) 96° (4) 104°
If the length of a chord of a circle

at a distance of 12 cm from the
centre iz 10 cm, then the

diameter of the clrcle is
(1) 13cm (2] 15 cm
(3) 26 cm (4) 30 em

In A ABC, P and Q are the middle

points of the sides AB and AC

respectively. R is a point on the
t PQ such thai PR: RQ =

1: 2. If PR = 2cm, then BC =

(1) 4em (2) 2 em

(3) 12 cm (4) 6 cm

If O is the circumcentre of AABC

and ZOBC = 35°, then the ZBAC

is equal to

(1) 55° 2 1107

(3 70° o

If1 is the incentre of A ABC and

/Z BIC = 135°, then AABC Is

(1) acute angled

(2) equilateral

(3) right angled

(4) obtuse angled -

r w SRS TR |

n‘

Salesn in crores of rupees

If sin® & + sin? p = 2, then the
value of

a+p
2 )"

(1) 1 2) =1
(3) 0 (4) 0.5
The value of

E oot ot ot
Cﬂtm cutm cutﬂncn 20

2
mtm
m -1 @ 3
(3)0 41

17

lfahﬂ+mﬂuﬁ.ﬂﬂﬂcgﬁ°.
then the value of sing - cos 8 is

5 3
(1) 17 (2) 19

T 7
B 15 W 13
If tan & . tan 28 = 1, then the
value of sin? 28 + tan® 26 |s equal
to

3 10
(1) 'y 2) 3

3

13 31" 43

Directions (B1 - B8) : The
following line diagram represents the
yearly sales figures of a company in
the years 2001-2010. Examine the

diagram and answer the questions B1
to B5.

.-
.- A
T I' "‘; .Jh'
: )—7-_|r
A g
ed1 neda w0t 30bs Boo8 800w 80T Seee 3008 3010
Yeant ——p

81. By what percent did the sales in

2008 decrease In comparison to

the sales in 20067
(1) 20 2) 18
2 2
16= 15—
(@ 165 @ 153
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B2. ‘The ratio of sales in 2002 to that Drections ( 91 - 98] : The ple- (1) 38.4° (2) 76.8°
in 2007 is chart provided below gives the (3) 75.6° (4) 45.5*
mez:3 @1:3 distribution of land (in a village) under | gg. [fﬂmPrnducﬂnnﬂfrl-ntiaﬁuuh .
@1:1 4 3:2 various food crops. Study the ple-chart -m.:;t.:nf]l:]n-:u.rsn:r|:u'mi1'.h|=;|;~rn|:uiv¢;|.:“,:luI
83. Average sale (in crores of % of carefully and answer the questions from ﬂjwhﬂﬁmﬁsﬂlﬂu{hqm
the company during the perdod 91 to 95. mﬂnmtﬂuﬂbftwmmemw
D003 - 2007 1a per acre of rce and bajra is
(1} 5.8 2} 5 11 5:1 (2 3:1
B4. The increase in sales Directions (88 = 100) : The b,
in the year 2005 with reapect to graph provided below represents g,
the previous year is production of rice and wheat in
(1) 80 21 100 states of a country In a certain yey,
(3 120 (4) 150 Answer questions 96 to 100 baseq oy
BS. Total sales [in crores of %) from the bar graph.
2005 to 2008 1
(1 17 @ 27
(3 22 i 31 Elf‘- B Rice
Directions (86 - 80) : The 14 [ Wheat
folbowrd ahivas 12
at dm'isﬁh the number of | 7 1 ine total area under bajra was
ﬂl,:m colleges participating in three hundred acres, then the am
curricular activities : total area {in hundred acres) 81
under rce and barley together s E o
E hmi ) Colleges (1) 18 @ 12 - 5
des|A|B|C|D|E(F|Q () 15 {4) 20 i R -l -1
1 100100300200 | #% The combination of three crops od—1 l b
which contribute to more than A B C''D E
I hookookoojiog 100100100 50% of the total area under the States — 3
food e is
= lan[mﬂ?ﬂudm o i) ‘i'l.l'hr:::rh:eand maize 6. The total production of
B lﬂlﬂh"{lmlﬂq“qm (2) wheat, rice and jowar o B
wheat (n all the mentonied states
(3} wheat, rice and bajra finimum state
Is in the
Read the table and answer i) rice, barley and maize 1
questions 86 to 90 83, The ratio of the land used for rlee i B @ c
88. The difference of the range of and basley s (3 D 4 E
number of students in activity IV ma:l @152 97. The ratio of total production o
and the average of number of 13-!2:1 [413'2 ﬂﬂ::mmnmmﬂmfdgmmlu
students in activity Il per college s : t of wheat in those states, &5
{1} 111 2 183 rice be distributed to wheat and
i@ 104 (4] 217 barley in the ratio 2 : 1, then the gig:i
B7. Percentage of the number of e corresponding to wheat fn
the new ple-charl will be 4 14:15
students In actbdity I§ to that of a8,
vV is g — - ~ The difference between the
() 37 (@) 42 ﬂﬂ-hl'lﬂ Shﬂppmg production in ree and wheat
(3 48 {4) 50 BoOKS AND MAGAZINES ‘“‘“ﬂ'ﬂl o am in
B8. The median of data pertaining to ; iy
activity 111 la of Kiran Prakashan (2 allof A, Band E
(1) 540 {2y 229 (3] B and E both
{3 153 ] 75 Getbooks {4) Aand B beth
88, The college In which mintmum and magazines of B9. The state which Is the largt
number of students participate in Kiran Prak h producer of rdee is
extra curricular activities is ashan (1 A 2 B
1 2 G at your doorstep easily, @ c (4 D
(3 F (4} A log on ou . 100. The average of production ol 1
80, The ratlo of total number of B r website : in the mentoned lul El.!lli‘ih
students in Il and | s www.kiranprakashan.com tonnes) i
i;:igi'r ﬁ::m %I:GR (11 5.5 2) 5.6
s I:10 y 3 {a} B.7T [‘.' E.E

;_;I mlﬂ—,i:———_z__———

—
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AHSWERS E = M =4 numbers are positive.
Vo=l 2.8 8.3 4.3 . 6. (4) By mental operation,
\ ﬂ___4 ? (3) n-{_ﬁlﬂnumbwlamcﬂydmm- 13° + 15%= 169 + 225 =394
: .(8)] 6 (4) (3] s. (* e ﬁ lul.,l. If the difference be- - Required sum = 13 + 15
2| 10.@|11.@ | 12,3 © sums of digits at =28
_.fl[-gl-— ) cven and odd places be either | 7. (3) Remainder when (a~1)" is
13.(3)| 14.(1)f 18.(4) | 18, (g) z:nr:l&ur a multiple of 11, divided by a = (-1)"
;7.0 18. (0] 18.(1) | 20,3 = 2;*_";*_‘__32'?1- 6+84+7)=0 o B7% 467 = (68~ 1) + 67
: 'ﬁf'[if 22. (4)| 23. (4) | 24, (2) = 2A=2]1-3=18 Tﬂmﬂ;whm Ll
i [gs.(4) 26-(3)] 27.(3) | 28, (1) o Anl® g =(-1)7=-1
i 2 ired remainder
_(4)| 30.(4)] 31.(2 : Requ
jf_{_] )| 32.(4) &E]Letihcnumbﬂgb:nmd =-1+867=66
33.(3)| 34.(1)] 35.(2) | 38, (2) s  8.(*) Let the work be finished in
37.(2)| 38.(1)] 39.(9) | 40.(2)| 2 ; 15;5 :fda“;;:;k .
_:'i- (3)f 42.(4)] 43.(4) | 44.(2) and, 3= 7 work done by B in (x - 6) days
45.(4)| 46.(2)| 47.(3) | 48. (3) b2 +work done by C in xdays = 1
9. 1)| 50.(2)] 51, & b 7 28, x-8 x _
40. (1) (2)| B1. (3) Ez.E}_ - Tl
83.(2)| 54.(3)| 55.(1 :
- ) b [ﬂ =a= 2025 = 45 X0, x . 1.8
61.(4)| 62.(4)] 63.(4) | 6a. 1 16(x-6)+13x _3
5. ol =b='—5§=1—i;-5=35 = iax16x2 2
65.(1)] 66.(3]| 67.(4) | &8.(2) D A B0 = 80 =+ 18x-96+13x=13x 16 x 3
j | 68.(2)| 70.(4)|71.(4) | 72.(4) _ s : = 29x=624 + 96 = 720
" [78.(3)] 74.(3)] 75. (1) | 76.(3)]| 4 (3) Expression = ‘—léwz—[—f—_’: i %
77.(3)| 78.(4)| 79.(4) [ 80.(3) (3936 (32127 9. (2) Expression
[ 81.(3)| 82.(2)| 83.(1) | 84, (4) T @243 _ _lo7s)® +\-U‘?5 o +1]
) iﬁ- (2)| 86.(3)| 87.(4) | 88. (3) gl4d y 954 (1-0.75)
89.(1)] 90.(2)| 21.(1) | ©2.(1) T gieB, g _ 1075 +11 -075{1075)% + 0.75%1 + 1‘]
| 83.(3)] 94.(2)| 95.(%) | 6. (3) a&.[am]n.wm: 1-0.75
xa'=a™m
97.(4)] es. (4)] 99. (2) |100. (2) a™ s+ at= g 3 (ﬂ.?5)3+ 13_‘{&75}3
== 025
EKP > 314.4+5& . 319.&
= EXPLANATIONS B= ERRLAS g
1. (4) Quotient = % =306178 _91_g s
s 5. (4) Letx =6 +{6+6r... _1 _l0_,
DoEr " On squaring both sides, . Rﬂ{:f?mdzs
*+ Dividend = Divisor x Quo- v« Nequired square root
Uent + Remainder x2=ﬁ+Jﬁ+JE+dﬁ+.... =Ja=2
axa a = xX=6+x 10. (2) /4096 =64
Rl = @-x-6=0
2 = X@-3x+2x-6=0 . 24096 = ’ﬁ=2“;.5_4
=1*2a ala+2) - x[x-8)+2 [x-3)=0 il 100 10
A = (x+2) (x-3) =0
=ala+2) = x=8 and x#-2 because | Gogioes. [_4096 _ 64
1000000 1000
e — STNE-125
E&Jﬁ'n_
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.. Expreasion = 64 + 6.4
+0.064
=70.464
11, (3) Expression = 3011 x 3012
=3011 (3011 + 1)
= (3011)* + 3011
;. Required answer =3011
12. (4) Work done by (P + @ + R
% o 1]

Work done by (P +Q]=%

weaiif}

8
Work done by (Q + R) =23

wee(1H)
From equations (i} + (iif) - (1)

= Rs. 1000

13. (3) Let the marked price of ar-
ticle be Rs. x and its C.P. be
Rs. 100.

- 80X _100-30=70
100

= B0x=T0x 100

T0x100 70O 360
= = = Hs.
*=""%0 6 3

On selling at marked price,
350 50 2
Profit 3 100 3 3

14. (1) Part of the cistern filled in

2
2 hours by pipe A =
Pa.rtufmectstmﬂ]ledinl

1
hnurb}'pipeﬁ=z
. Total part filled
2 1 _8+3 11

—_— —  —

o bt aabn L TR T

When all threc pipes are
opened, the part filled in one

PP T i M

T g 12 1
Le. 15 part will be emptied
per hour.

-, Time taken to empty —E

part
11 12 11
"12%% "5 pou

= 2 hours 12 minutes
. Rﬂquumm=5+2: 12
=7:12 p.m.

15. (4) Let A and B together com-
plete the work in xdays
» Time taken by A = (x + 4) days
Time taken by B = (x+ 16) days

1 1 1

& +
x+4 x+16 x

x+16+x+4 1
= k+d)x+18) x
=227 + 20x= 2 + 20x+ 64
=X =64= x=,J54=8days
18.(3) M,D,T, =M,D,T,
=250x20x5;MlxlﬂxB

250%x20x5
- N~ Toxn,. -
. Minimum number of men re-
quired = 313 '
17. (1) (2M + 5W) x 12
=(BM+2ZW) x 9 :
= 24M + 60W = 45M + 18W
=42 W=21M
=2W=1M
s 2M + BW = 5W
~MD =MD,
=9x12=3xD,
Dﬂ_ﬂxlﬂ

18. (1) Let the cost price be Rs.
100 and marked price be Rs. x.

=3125

=36 days

x—- 3y = 1000 ..... (1)
By equation (i} x 3 ~ equation
(1) x 5,
6x— 15x-(5x- 154
= 12000 - 5000 -
= Bx-5x=7000
= x=Rs. 7000
20. (2) Let the numbers be xand
where x> y.
L Xx+y _5
" x-y 1

[By componendo and
dividendg)

x+y+x y_ 5+1
x+y x+y B-1

21. (2) Single equivalent discnunt
for two successive discounts

of x% and Y%
; 2
-(x+v-755

;. Single equivalent discount
for 10% and 20%

-[1n+2uam"mj%=m

Single equivalent dismunt for
28% and 50%

5-(]:-:25]%
100
= (78 - 14)% = 64%

22. (4) 1. Single equivalent dis-
count

= [EIJ +28-

10x10 \
=[10410~- a
» xx3=125 [ 100 ]%_.19%
II. Single equivalent dis-
_l25x4 __ 500 erristh _
3 3
:. Required ratio '(IE'FEJ?{:}BJ% = 19,04%
-500.100-5:3 1. Single equivalent dis
" ey _ ‘
19. (1) Let the incomes of A and B 5
be Rs. 2xand Rs. xrespectively =[15+5-—1 KE]«.= 19.25%
and their expenditures be Rs. 100
5y and Rs. 3y respectively 23. (4) In the beginning,
A's savings : Acid : water = 4 : 1
4 Let x litres of mixture be™™
=EXEDOG=R.E.4DDO placed by x litres of water.
- uﬂl
B's savings = Rs. 1000 s In .ilitres of mixt
o 2~ 5Y = 4000 .....(0) milk == litres
STNE-126 —
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U = 60x+ 147y = 100x+42y ) nm:aan
2 and, water =¢ litres = 100x- 60x= 147y 42y [’I’ltne—-—sp—eaf'
i = 40x= 105y
-7 4 x_105 21 o 10923
X 3 y 40 8 =t
1-=+X 250 20
5 28. (1) Let third number = x 40
20-4x 4 * Second number = 2x i 7
s 1

- 5-x+5x 3
= 'Eu-' 12x=2-ﬂ+ ].E\x

= 28x=40

24. (2) Required ratio
=9K14:EH15
=21:20
98, (4) Let the cricketer’s highest
sCore = Xruns
s Minimum score
= [x- 172) runs
+ ‘Total runs scored in 40 in-
nings = 40 x 50 = 2000 runs
Total runs scored in 38 in-
nings = 38 x 48 = 1824
o x+x-1?2-20ﬂ0—1324
=176
= 2x=176+ 172 =348

w x=28=1a

28. (3) Let the weight of alloy A be
1kg. i
s Goldin A ,,% kg and cop-

per == kg
In 1 kg of alloy B, Gold

X 2 ¢
T and copper 18
. Required ratio

7,7).(2,11
61):(5*%)

21 16
=—:—==21:15=7:5
18 18

27. (3) Let required ratio be x : Y.

and First numhcr:_&x
v o dx+2x+x=154x3
= Tx=462

»~ First number
=4x=4 %66 =264
29. (4) Let the number of officers
be x, then number of the rest
officlals = 500 - x :
., xx 14000 + (500 - J 4000
= 5000 x 500 '
= xx 14 + (500 - x4
=5x 500
= 14x+ 2000 - 4x= 2500
= 10x=2500-2000=500

500
=—=50
= X 10

30. (4) Difference = (64 + 62 + B4)
- (B8 + 65+ 73)
=210-206=4
. Correct average

4
=72+—="721
40

31. (2) Let the first number be x.
-~ Second number = 3x

- +
Third number = T

. .t+31+3—:-=33t 114
e 4xl+ 1§x+3x _ 342

= 19x=342 x4

. Largest number
=3x=3x72=12186
32. (4) Let the total distance be 1
km.
s Total time
b A
1 1 5 10
=5x8 10x325 | 20

1

e o e o ———
30 250 200

_25+4+35 _ 64
~ 1000 1000

8
=125 hours

- Total distance
5 ATerage spe Time taken

5% =15.625 ]‘ﬂ'nph

33, (3) Let x red marbles be add-
ed.

. OB %100 =60
40+ x

D+ x)x5 =
40+ x
= 50 + Bx= 120 + 3x
= 5x-3x=120-50

70
=2x=?ﬂ=&x=-2—=35
34. (1) Let the number be x.

XX xx——SUU
e 4 100

x!
=

1 =3x =x=3x4=12

k R T
85.(2) A= F{l— ﬁ]

3
10
= ?29-{ _ﬁ]
g_PH(i]Zﬂp
=729="%\15) 1000

P= 729x1000 _
i o 728
38. (2) Required reduction percent

Rs. 1000

X
= 100
100+ x .

H ﬂx lm = E = 331%
150 3 3
37.(2) Let the distance of school

be xkm.

!
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§
-J_' mu'i' 4
X x 10 1156
A | 0000 X —— = Ra. 46000
8 3 % i T Its diagonal = V2 x g,
. 5.P. of second horse J2
4.7:-3,; 1 = "}i{ix 2
=T='§ ==-T‘xi=..;_l 'E*m'm_ﬂm] = 20 metre
= Rs, 30400 +, Diagonal of new sqy,
=’-‘C=2km 43, (4) Let the seller buy xy gua-
38. (1) Let the number of oranges vas, = JZ %20 = 2042 Metre
ught be 2x dozens, ; C.P. of xyguavas = s . _l.;.;
. Total C.P. S.P. of xy guavas 2 Its area = 2% (diagony,
= 40x+ 30 R, 70x X_.2 -
Total S.P. =ayxe X - GRARARI
=45 x 2x=Rs, 90x . Galn=@=-pP = 400 sq. metre
~. Profit = 90x- 70x=Rs. 20x HaiP 48, (3) Height of cone = hﬂm
. 20x=480 Cain% :-ﬂ——)"lm (:]FIInd'I:I' = I'EEH'I-I! IJ”E‘
480 y sphcn:- runits
=x= Enﬁit 4. ) 81 Principal x Time x Rate . Ratio of the \'ﬂlumui
. Number of oranges bought . o 100 mnr.. cylinder and h%
=2 x 24 = 48 dozens . xxqu_yxmgxai l'.lﬁ'lh :I'lrgft—l'll'a
89, (4) Let the CP of chair sold at 100 100 3
loss be Rs. x. ] ia 2324
*, CP of second chair E_Tﬂ‘i_.’l‘ﬂ =E:2 r3:n3%r 3T
= Rs. (900 - A y ma 1 4 ol
Rﬂh f L § —
. 900-x _x _o4 45.[;] Let A borrowed Rs. x from : =
4 J "ﬂmﬂunthnnﬂwdfrmnc =4:27:2
4500-5x-4x _ o ” 49. (1) Let the rate of stream by,
e =Rs.(1200 - x) Sarelt
= 4500 - 9x= 1800 xxlu*;x1+ﬂ2m-l.;:jx15ﬂ=ng .. Rate downstream
= Ox=4500- 1800 =2700 1 = (10 + x) kmph
= 14x+ 18000 - 15x= 17200 Rate upstream = (103

#x:ﬂg = Rs. 300

40. (2) Let S.P. of 100 oranges be
Rs. x
-, SP of 20 oranges

xx20 X
=Rs.— = Gain
100 5

4x
e =
o CB=X=g 5

» Gain per cent

41. (3) Let the C.P. of article be Rs.
100 and its S.P. be Rs, x.
60 xx50

21008 —=
100

#m=%=x=12ﬂ

~ Gain% = 2004
42. (4) S.P. of first horse

= 18000- x= 17200
= ¥=18000- 17200 = Rs. B0O

. (2) Each interior angle of a reg-
ular polygon
3 L]
=180 KE =108

Each interior angle of a reg-
ular polygon of nsides

(st

[E“H““]xgnumao

- [2n_4}xlﬂ=12
n

=20n-40=12n

= 20n- 12n=40

=8n=40

=n=5

(3) Side of the first square

=+JArea

47.

L )
" 10+x 10-x
10-x+10+x

—————ni—i | R
e Bl[umx}[m-x}]
= (10+ 3 (10-4 =91
= 100-2=91
= x2=100-91=9

. x= 9 =3 kmph

=20

B0. (2) Speed and time are inver®

ly proportional for a fixed &
tance.

% of usual time - us

time = 20 minutes

=+ Usual time N%*‘W

', Usual time =3 x 20
=60 minutes i

B1. (3) Let speed of mwfacrrbﬂ!:pl
still water be x kmph

—
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e speed of stream be y kmph,
i SO, o E7EO0
e 50 58. (2)
x-y x+y B4&. 3+ P+ f=2a-2b-2¢c- o
35 , 52 8 =
= +;.+_=.11 ween (i) = @+P+d-2a+2b+2¢c+ o,
x=y v 1+1+1=0
By equation (i) x 4 - (if) x 3, = (a®=2a+ 1)+ (B +2b+1) +
100 _ 105 _ ., _ E+2c+1)=0 .
x-y x-y S =[a-12+{b+1P+(c+1P=0 B o
=a-1=0=a=1 b
=>—-5—--1mx—u=5 =b+l=0=h=-1 LH.E_"D s AN
#= =c+l=0=c=-1 96 = fx con, .
« (111) From similar triangles ADO
Lsa=hb+ec=14+1=1=1 and ABO,
From equation (1), B65.(1) 2 +3x+1=0 .
95 39 Dividing by x, L
a5, 39 _ AD  BO
5 x+uy 1
r+3+;=l] 59-—.&_:
. T g 3
= x+y=13 eee (W) X = h=9-3r
By equation (iv}-(iti) Cubing both sides, Volume of frustum
x+Yy-x+y=13-5=8 13 1 1 1
5 ayms [x+;] =x3+F+3[x+;] =Enh{rf+ﬁ§+r;m]
8 1. .22
#y=-§-=4]{mph ==[-3]3-x3+—15+3["31 = MHEH?{H‘—BI']{'E‘FTE‘FEF)
x
52. (3) Let the principal be Re. 1. -
o T m—2?=xﬂ+%-9 m4-1=-?—{3-—r}{35+3r+r2}
Sl P[l'l'—‘}
100 : MxT 3.3
x4 =2749=-18 =3 =T
R Y " =14=27-P
= lé——r - 8 . =
ik 1[+1m] - ”S’;fgflif = P=27-14=13
Cubing both sides, = a+b+ec=0 & T= 913 em
. R B3 Now, a® + b + & - 3abe 69, (1) First cylinder
2 =[1+ﬁ§] =f{a+b+dla®+b*+ - ab- Second
be - ac) cylinder
. ”_R_“ﬁ = @+ b+ - 3abc=0 r,=2r T, = 3r
=2="100 = a+ b+ c*=3abc ‘h,=5h h, =4h
« Time = 15 years 57. (3) Area of the base .~ Required ratio '
B53. (2) Let the younger son's share 1 =2zrh, : 2anh,
be Rs. . e -E.-:{diaguna.l]’ =2x5:3x4=58:6
.+ Elder son's share I 60. (3) Let the height of cylinder
= Rs. (120000 - x) =_2.x24-.-'§x24ﬁ be h cm and radius of base
=recm
.',x+i%f=[lm—~x¥+ _ ;ﬁl?ﬁ“eq';tf"ﬂ;‘m ; & 2n + 2nrh = 462 ....(1)
a2 i § T PyT Area of curved surfaces
0000 — x) x4 % 1
= [ bas
100 g oighi R AT o tNne =2nmh~;rx452=154
= 20x+Bx 1
=20 x 120000 - 20x 1728 = o XAROIS Pt
3 = 2nr = 462 - 154 = 308
+4B0000 -4 1728%3
= 50x=2400000 + 480000 sh=="—===9 metre = 2x22 42 - 308
= B0x= 2880000 Fi
= STNE-129 =
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Eowmmﬂ
mw ___-____,_.——'-'_—-—-__ 1 H
Mﬁ _.ﬂysl.ﬂu='-§
: . 308x=7 _ 1 =12 ecm Y-axia are
-r: =—___2.Mﬂ 48 F&h-ﬁ_ . Pnlﬂt.!-m
= F=7eCm ” E]gnd[ﬂ."I'J
., Gurh= 154 4.2 a+=+2=0 [ 2 2
a . jred distance
= 2x 2 xTxh=158 e arieD e
7 o [+ 1P=0=a% 2
aul o [E..l]
=:"h:.-.!£.!—-z cim ot kg 1 = {ﬂ- i 2 2
2x22 2 ool L T
. \iulum:nlq.rhnder-ﬂr‘h e =TT (-1 _Jora=2 units
22 7 S o [T 3
=—?—-:H:TK?H2 as. [ﬂmﬂ“p}u of (k- 1]'-""'_!:{5 Note : Distance = i+_.ﬂ
=539 cm? Esl}and[ﬂ-'ﬂr‘f'aﬂ"’l_ X
o1.4 s il 08.) **75x
_n:ln_-d;_-r_ﬂ_m_“_f_iﬂ"‘“—‘-'-.i k=1L ;
Curved surface ofcone 8 “2-k -3 A H“J,.Em;
2nrh B = -3k+3=2-
= = e cummulﬁﬂﬂ.
g B d—ﬂkikii 3
aryh +r2 _l_ 1 ==.[4x'_[3+[—l]3
-, i Fi :—Ek"—l’:“kpi [4-1""';;] ix
htert B M:ﬂmsr.rﬂi.!h“m“ﬂr" ; ;
: _Oand ot B UG _.[ +_J
cnaquaﬂn,gbnﬂuldﬂ. :g.g;f. ""r" b, + 3 nAx R 4x 7=
S U L s _h,a e 8
95 16 i p— b Iud
el 25 I = bgiﬂ-_i = B4 = 64
rF 25 =
_]'Ii-:lﬂ ga. [ = Gidx +E-I =64-12=H
P 25 g go. (@ a+b+re=0
=T 71 (@+d=-b
Squarlngbuﬂmidm.
"'T:'“% &+ &+ 2ac= B
62, (4 Let the radius of base = ¢ : - @+ ¢'= b~ 200
umtanndhﬂﬂitﬂ'mﬂh a? +b? +c? b s bt -0
urits. B c = e
o+ gar? aarirt +h2 Let AB be tower and BC be its 216? - ag)
. shadow = =1
.—-=r*2.r-n||r’l+h!=|--vI.r-"=|r=+h2 Tﬂ[.;]gl_:fy _— ,pj;H-lf
- = = |. + + & ¥
S af==/3r=h If AB = x , then BC oy (e abs 1) "
r_1 3 - 8 = 4 (@ - ab + )
=® 43 tan = = === =3 wd-ab+ P2 Ml
B3, (4) Area of the base B @+ab+ Bad A
- tan 8= tan 60° By equation (1) - (1
-f[iuidt‘ =0=60" n*+nb+h’uu’+mb*'h'
4
5 67. (4) On Y-axis, x= 0 ;:b-ﬂz -
5 = = =¥ =
e L B =043 8q.C Pulting x=0 in
% B 6= 0J3 sq.cm. x+2y=3, 71.[-:]n=+bu+c3_.3ﬂh¢n[ﬂs
+. Volume of the prism 4 +c) [ + B 4+ - ab- B
=ﬁrﬂﬂfﬁﬂhﬂﬂ“ bl ptaload g -%{n+h+c{u—h}=+lb=c]"+lﬂ‘
1 3= xh P'l.l - ] - -
=108/ ting x=0m 3x-2y=1, | - Expression

_d
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I{“Hﬂ[h-m’-rib-ﬂ:ﬂu-n]‘]

T Tb-c +lc-ar

1
_%thﬂiizﬁuﬁ—m}
=15

72. (4)

¥
LCAT =44°
/BTA =40

/ACT = 180° - 44° - 40° = 96°
ZCAT = ZCBA = 44°

/BCA = 180° - 96" = 84

. ZBAC = 180° - B4° - 44°
=52°

: Angle subtended by BC at
centre

=2 x 52° = 104°

73. [.3]

OC=12emAC=CB=5em
W Rﬂ.ditls ‘GA' L 1’0[:2 +ACQ

=y122 452 = Jiad + 25

=4169 =13 cm

* Diameter of circle = 2 x 13
zﬂﬁm

74.(3)

A

| ]

=

-

8|3
83 |

2.1
RQ 2
- Rﬁ=4mn -
-l.l‘ m: -

W PR+RQ=2+4

The line joining the mid -

‘“-““"--‘:“—‘-—____—-——

points of two sides of a tri-
angle is parallel to and half of
the third side.
#BC=2PQ=2%x6=12cm
(1) The point where the i
bisectors of the sides me:ltﬁa
called the circum-centre.

& :

75.

OB = OC = radius

- LOBC = ZOCB = 35°
~ZBOC=180-70=110°

~ ZBAC = 55°

The angle subtended at the

centre by an arc is twice to
. that at the circumference.

76. (3) The point where internal
bisectors of angles of a trian-
gle meet is called in—centre.

A

B C
ZBIC = 135°

% (£B +£C) = 45°

= /B +£C = 90°
s LA =90°
77. (3)sin?a +sin?f=2
wsinf<l
~sina=sinf=1
sa=pj=90"
a+ f

T]:cu&ﬂﬂ‘:ﬂ

78. (4)

= got 9°cot 27°%.cot 45° cot
63°, cot 81° [+ m®= 1807
= cot 9°.cot 27°.cot 45°,

cot (90° - 277). cot (907 - 97)

B1.

= cot 9°cot 27°cot 45°. tan
27°. tan 9°
[cot (90° - 6) = tan 8]
= (cot 9°.tan9°).(cot 27°,
tan 27°%).cot 45" = 1
[ tan 8. cot 8= 1]

17
. [4)sin@+cosB=Tg - ({1]
Llet, sinf@-cosB=X  .coes (1)
Squaring and adding both the

equations,
8in?0 + cos? 0+ 2 sin 0. cosd +
sin? 0+ cos?0~28in0.cos B8

2
17
[E] + 22
. 289
2 2 = .'(3
=2 (sin? 0 + cos?0) IEQ+
289 338-289
=x'=2- 155 =~ a9
=49
169

e JR LT
“Yieo 13

#ﬂﬂﬂ:mzﬂ=cntﬂﬂ
= tan 8 = tan (90° - 26)
=0=90"-20

=38=90"=0=230°
~sin? 20 +tan? 20
= sin? 60° + tan?60°

JEE 2 7
=[—2'] +(B) =3 +3=32
(3) Percentage decrease

* [2]quu1redrnﬂn=2:3= 1:

3

(1) Required average sale
J+4+10+6

=Rs.[ + 5-l- +6

Jerore

29
=5 = Rs. 5.8 crore
(4) Required percentage in-
. " 10-4
. 4

=150

®* 100
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85. (2) Required total sales = 7 (odd)
= Rs. (10 + 8 + 6 +5) crore » Median
= Rs. 27 crore a5
88, (3) Average number of students = [—]th observation
in activity 111 2
_B5+130+ 420+ 75+ 540+ 220 + 153 = Fourth observation = 153
7 B89, (1) It is obvious from table.
80. (2) Required ratio
=16808 .09 =900 : 2000 =9 : 20
7 91. (1) Corresponding angle for
Range of number of students rice and barley = 72 + 36
in activity IV = 108°
=438 - 105 = 333 ++ 187 = 300 acres
~ Reguired difference { 300
=333-229=104 RS ™ ETH
87. (4) Total number of students
in activity II . 108° = @xl[}g
= 100+ 200 + 200 + 100 + 100 h = 18
+ 100 + 100 = 900 = 1800 acres
Total number of students in | 92. (1) -+ 100% =360
activity IV -~ 50% = 180° -
=317 + 1565+ 438 + 105 + 385 ~ wheat + rice + maize
+ 280 + 120 = 1800 = 72° + 72° + 45°
~ Required percentage = 189° > 180°
900 93. (3) Required ratio
000 on BT i L
88. [‘?;_] Arr ﬂ"E“';E the obaeg.raunns ': ]Incrf:a?-at: in the correspond-
of activity 11l in ascending or-
oy mgz angle of wheat
ESr ?51 130; 153r 220. 420. =—:°"-?.2=4.-E=
540 3
Number of observations ~ New corresponding angle for

I 8

. (3) 1t is obvious from ﬂ-lfh_

. [4) Total production of rig,

wheat = 72° + 4.5":;3;‘\
(*) If the production of
be x tonnes, then b'h
Production of Jowar

= 2x tonnes

Production of rice

= 10x tonnes

. Required ratio
10x x
= =5 18 = 5:2

ble.

= 28 lakh tonnes

Total production of whegy
= 30 lakh tonnes

. Required ratio =28 : 3
= 14 ' 15

(4] Difference between the pry
duction of rice and wheat:
State A= 16-8

= 8 lakh tonnes

State B= 10-2

= 8 lakh tonnes

(2) State B = 10 lakh tonne

.[2) Average production of ris

8+10+4+4+2
= o

lakh tonnes

= 5.6 lakh tonnes 003

>

SALIENT FEATURES

This book has been divided into two parts. The first part
contains several topics of English Grammar, which are clas-
sified into 14 different chapters. Each chapter discusses a
topic at length. The second part consists of Model Ques-
tion Papers.

In each of the 14 chapters, concepts about the Fundamen-
tal and Basic Principles/Rules have been provided. Simul-
taneously, while discussing the various aspects of the chap-
ter, several related examples have been provided. The va-
riety of the questions tell the tale of the nature of ques-
tions asked in different competitive exams.

Each chapter is essentally supplemented with ‘a ready reck-
oner’, which helps in understanding and recapitulating the
basic rules at a glance,

Each chapter is supplemented with a number of questions
based on the topic discussed. The questions may have Er-
ror in one part and you are required to find out that error.

The questions have been explained adequately, which help you understand the root cause of

error.

Model Question Papers help in understanding the overall genre of a topics and thereby assist?

ERRORS

in English

developing a solid and sound knowledge of the topic of discussion.
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